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SO MR JIBRE CEEREE

SN BB SA(S) - MBAY - BES 04l &b ot plE-E HlRE2
DL 145,261,635 131,657,435 13,604,200
= 18,075,000 16,875,000 1,200,000
T 114,352,000 104,306,000 10,046,000
< 12,834,635 10,476,435 2,358,200
YT S4B BE 75,595,500 63,192,500 12,408,000
=2 18,075,000 16,875,000 1,200,000
T 48,961,000 39,915,000 9,046,000
< 8,559,500 6,402,500 2,157,000
T JgRE 10,344,000 431,000 9,913,000
T 9,249,000 203,000 9,046,000
< 1,095,000 228,000 867,000
NALTHTY = 227,000 167,000 60,000
207 1RO 40,000 0 40,000
01 g1 R gyl 40,000 0 40,000
OFANY FOUAS FEY 715 40,000 0 40,000
307 BI2H0| 20,000 0 20,000
04 QI AN T 20,000 0 20,000
OSHor LHEE A 10,000 0 10,000
OERUSH LHEY M 10,000 0 10,000
TIoig =S MERBAAY K| 1,946,000 0 1,946,000
X 1,946,000 0 1,946,000
403 XHXISHH S XH2 0| 1,946,000 0 1,946,000
N 1,946,000 0 1,946,000
01 XA 2L 1,946,000 0 1,946,000
OXAHU=MEH BAAY X 1,946,000 0 1,946,000
X 1,946,000 0 1,946,000
SO{E FHUKS MBOH HEAL 4,070,000 0 4,070,000
PN 3,700,000 0 3,700,000
< 370,000 0 370,000
403 XHXI SHH S K20 4,070,000 0 4,070,000
N 3,700,000 0 3,700,000
< 370,000 0 370,000
01 RIXISA X =22 = 4,070,000 0 4,070,000
OS0E FHUXY MBI HEAY 4,070,000 0 4,070,000
T 3,700,000 0 3,700,000
< 370,000 0 370,000
SAl FHOIXIY MBI HEALY 3,837,000 0 3,837,000
T 3,400,000 0 3,400,000
< 437,000 0 437,000
403 XHXI SHH S K20 3,837,000 0 3,837,000
N 3,400,000 0 3,400,000
< 437,000 0 437,000
01 RIXISHAT 2L = 3,837,000 0 3,837,000




SN DHYAD
Mo A/AC HRSY BE
SHel XA JBrRE (Brol:®2)
SA - HY . SA(B) - MPAY - BES Ofl st pIEEl SlimE=1
OSAl FIOHXIS MBI HEAL 3,837,000 0 3,837,000
X 3,400,000 0 3,400,000
< 437,000 0 437,000
INEPCESIEIINERES 41,845,500 39,355,500 2,490,000
= 18,075,000 16,875,000 1,200,000
X 16,806,000 16,806,000 0
< 6,964,500 5,674,500 1,290,000
ZS0IZTHIAFTHAAS SENL(2D) 18,075,000 16,875,000 1,200,000
= 18,075,000 16,875,000 1,200,000
403 TR SHS X2 0| & 18,075,000 16,875,000 1,200,000
=2 18,075,000 16,875,000 1,200,000
01 AXISH A= 18,075,000 16,875,000 1,200,000
OFBDIZZHAAFTHNY S M 18,075,000 16,875,000 1,200,000
= 18,075,000 6,875,000 1,200,000
TISOHZALS XI® 4,217,500 2,927,500 1,290,000
201 Lpr2 | 4,500 1,500 3,000
01 Ak 2|t] 4,500 1,500 3,000
OXSIHLEAIY 22| 29 4,500 1,500 3,000
403 TR SHS X2 0| & 4,205,000 2,918,000 1,287,000
01 XM A2 4,205,000 2,918,000 1,287,000
o= 22/0H2 THAY 4,000,000 2,713,000 1,287,000
Oontgsla A% - 24 (9H2) 675,000 365,000 310,000
OnhSor2 E4(34H2) 1,850,000 1,393,000 457,000
Os2E X (6M44) 290,000 110,000 180,000
OADZ &X(3HL) 350,000 150,000 200,000
OJl EHBIHAIY) 625,000 485,000 140,000
CIME B3= JXl KD 2,198,400 2,043,400 155,000
CAUME 2d g 2= 2,198,400 2,043,400 155,000
CIZAE Ba= ObX 2= 164,800 139,800 25,000
307 212101 & 150,000 125,000 25,000
04 QIZHSHAFALRI 120,000 95,000 25,000
Oz XHEJA HO0IE IS BSHE 25,000 0 25,000
CIUHE YAs 25 & 130,876 100,876 30,000
308 KHXIEHHIS 0 ® 40,000 10,000 30,000
IR EY ERCES] 40,000 10,000 30,000
OCIAUME HMAEE A K 30,000 0 30,000
CAME Zax o8 1,822,724 1,802,724 20,000
308 RtXIEHHIS 0 20,000 0 20,000
IR EYERCES] 20,000 0 20,000
OUIZME RLHB35tD ALY 20,000 0 20,000
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SA - HR - SR(3) - MRAY - BES 0l &t pJE-F HimE=+1
St QtEOolAl NHE 28 IZE R 80,000 0 80,000
307 glz2tol & 80,000 0 80,000
02 QB AMAHEE 80,000 0 80,000
Ostd et oAl NHE 2B MZEY 80,000 0 80,000
HZXA 4o & gd 65,791,700 64,791,700 1,000,000
Xl 63,823,000 62,823,000 1,000,000
= 1,968,700 1,968,700 0
HEXS o 65,791,700 64,791,700 1,000,000
Xl 63,823,000 62,823,000 1,000,000
=S 1,968,700 1,968,700 0
TEXNY ALT SZ0/8 25(=21) 2,000,000 1,000,000 1,000,000
N 2,000,000 1,000,000 1,000,000
403 UHXISHHSAH=01 & 2,000,000 1,000,000 1,000,000
Xl 2,000,000 1,000,000 1,000,000
01 [XISMA2E X 2,000,000 1,000,000 1,000,000
OFEIXNY dEd SEI|E 2= 2,000,000 1,000,000 1,000,000
Xl 2,000,000 1,000,000 1,000,000
228 MUE 450t 2323 A 72,000 27,000 45,000
g=2ZHEd F=a 72,000 27,000 45,000
g5 ZMEEAY =8 57,000 12,000 45,000
307 2I2+0I A 45,000 0 45,000
04 CIZHHAIAIH E X 45,000 0 45,000
oZ=s 704 BHats< JIE M2 HEE 45,000 0 45,000
HY2IFH(zgLE) 36,035 34,835 1,200
Jl=dl 36,035 34,835 1,200
fA2E JI1E2ZH| 36,035 34,835 1,200
203 &R F=&| 4,200 3,000 1,200
04 FA2IHRFEH 4,200 3,000 1,200
ORN2E FRF2H| 1,200 0 1,200




